
 

 

Answer on Question #46325 – Math - Statistics and Probability 

The sales per day in a shop is exponentially distributed with average sale amounting to Rs.100 and net 

profit is 8%. Find the probability that the net profit exceeds Rs.30 on two consecutive days. 

Solution 

We need to find the probability that the net profit exceeds Rs.30 on two consecutive days.  Net profit is 8%. 

That’s why the probability that the net profit exceeds Rs.30 is equal to the probability that sales exceeds  

𝑅𝑠. 30

0.08
= 𝑅𝑠. 375. 

But average sale on two consecutive days amounting to  

2 ∙ 𝑅𝑠. 100 = 𝑅𝑠. 200. 

The probability that the net profit exceeds Rs.30 on two consecutive days is 

𝑃(𝑋 > 375) = 𝑒−
375
200 = 0.15. 

Answer: 𝟎. 𝟏𝟓. 
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